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Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
thecircle.

Use black/blue point pen to darken the circle.

See the following illustration.

[lustration:

1. Thesumof20and 12is

(@)32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheetas under:
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Half filled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The Booklet and OMR Answer Sheet must be handed over
to the Invigilator before the candidate leaves the
Examination Hall. No page(s) should be torn out from the
booklet. "

8. Keep OMRAnswer Sheet straight. Do notfold it.
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All questions are compulsory, each question carries one
mark and there is NO negative marking.

10.Use of calculator/mobile/ any electronic
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ITHTT B SECTION-A

1. The average time required to reach a

1. T A R I 9% UgER 9 39 storage locatibn in memory and obtain its
BT U R B Iy o aret Iid contents is called the
W Pl g | a. seek time
® Arp e18d b. turnaround time
& SRS <A C. access time
T TR T[EH
T TTIHR A d. transfer time
2. EPARAM s a/an
2. EPARAM & ... 2l
A a. Personal Computer
G T BYER b. Laptop
N . C. Super Computer
T IR dYSR .
q g U d. | pad

3. Who developed C++ language?
3. C++ 9y fha faafaa ar?

a. Ken Thomson
6ol DT AT b. Bjarne Stroustrup
9 RARSIES C. Dennis Ritchie
T st R
T S kI d. James Gosling
4. The members of a class in C++, by default,
4. C++ ¥ 1o g9 & Wew, ¥piee wU ¥ B9 are
gl a. public
® gfe b. protected
g EISL S c. private
T rgde .
q \ & oy & d. mandatory to specify

5. How many constructor a class can have

a. 1
‘h 1 b. 2
& 2 c 3
Rl 3
q B W T8 d. No limit



10.

3T A P AT RSP 8l 87

B ADD

g READ

T LDA

q CHANGE

U fde ST B R &R B foIv STIRT 8F

qrelT Hfdhe P AH | ST ST 8
® TR
T M IR e
T ety wafg
q TR
e 1 fechiad & a1 Yde & H=
facid &1 Seoi@ HxaT &
EQ forex
T CARIGIG]
T Jermar
q feforady
PR B TIREH BT SUATT SSATd
¥ fopar ST 2
® CEIG]
9 ABAT™
T NIE)
q R
IfE 32 I & 3R udd BT AHR 1 Dl &

10.

Which of the following is not a mnemonic?

a. ADD
b. READ

C. LDA

d. CHANGE

The circuit used to store one bit of data is
known as

a. Encoder
b. OR gate
C. Flip Flop
d. Register

Parameter that refers to uneven delay of
data packets in delivery is

a. Jitter

b. Timelessness

C. Accuracy

d. Delivery

Banker's algorithm is used in
deadlock

a. Avoidance

b. Prevention

c. Detection

d. Recovery

If there are 32 segments, each of size 1Kb,
then the logical address should have :

a. 13 bits
b. 14 bits
C. 15 bits
d. 16 bits



11. frdlt <y & IO & F&T BT T e Dbl 11. Number of attributes of a relation termed as

HET ST 272 _______ ofarelation?
a. Degree
b. Cardinalit
| EASRIGE ity
T R C. Tuples
R ST d. Domain
12. SQL ¥ &< aiferer @ v afem @ 9 @I 12. In SQL to rename a column of the table
goe @ fre RrefeRad # § frae SuAnT which of the following used?
s B 7 a. Alter
ol 3oy b. Update
¥ AT c. Modify
. d. Insert
q T
SECTION B
(’ﬂﬂ'll Ty 13. Which of the following is not a scalar
13. 1 | | 3 o enfewr ¥y 761 2 quantity?
a. Force
® ERl
g g b. Pressure
T R C. Acceleration
? b d. Velocity
14, GBI a9 P T T 14. Light year is a unit of
a. Time
Ed Ty
T ot b. Energy
T S HHT C. Mass
E S d. Distance
15. ToATHYY ReR(e & T TS DI 15. Sl unit of gravitational constant is
_ .
a. Nm’kg®
P Nm’kg? 9
g Nm?kg® b. Nm’kg?
T Nm’s? N Nms?
q Nmkg™*
d. Nmkg™



16. TP TR DT Uk I A 2| GR B QN 16. Resistance of a wire is r ohms. The wire is

e W), 3T TRRYS & N stretched to double its length, then its
arft | resistance in ohms is ,
a. r/2
g r/2
! b. 4r
g 4r
T 2r C. 2r
q r/4 d. r/'4
& 17. The diameter of the nucleus of an atom is
17. %P “”ga\’ & @E A F E of the order of
& 10°'m a. 10°'m
-25
@ 110 m . b 10-25m
T 10%m ~
T 10™m C. 10%"'m
d. 10™m
18, frdR1% &1 gsan H ®

18. Kirchhoff's first law deals with the

TREVT B I ST g3 & conservation of

- ot a. Energy
LC| ST b. Heat

T SIGN]

o . C. Charge

d. momentum

r [+)
19, Ay =T ¥ fagge waE 1% | & ST g, 19. If the current flowing in a conductor

o ARt g Sel changes by 1%, then power will change by
G7) 10/0 da. 1 0/0
9 2% b. 2%
T 10%
. 10%

2 100% ¢ °

d. 100%

20, 1 # | BT W YT T P 7D IR 20. Which of the following is an example of

g longitudinal waves
- e P a. Gamma ray
] &gl aT b. Sound wave
a W-i’. . X-ray
15} Sl dxIT

d. Water wave




21, T w2500 5[ BM 1 fAe & @var & @ 21. Amachine does 2500 J of work in 1 min.

79T g ReRa i @ &2 What is the power developed by the
machine?

& 21 W a. 21 W

g 42 W b. 42 W

T 150 W c 150 W

g 250 W d. 250 W

22. Aforce of 100 N is acting on an object of

22. 100 kg I TG W 100 N FT I THTRAT 1Y mass 100 kg. What is the acceleration

al, gEH T TR S BT produced in it?
] a. 1 m/s?
® 1mis” b 10 m/s?
g 10 m/s™ .
- 100 m/? c. 100 m/s
T 1000 mis? d 1000 m/s’
23. TR rer 6€7 1 sk golt G2l 23. Nuclei gC'*and go'*are pair of
ST & (a) Isotopes Nuclei
(b) Isobar Nuclei
@ AT (c) Mirror Nuclei
“ (d) Isotones Nuclei
T ELNicH
q Nk EIEIBEY
24 . The value of one Curie is
24. U TR B AF 7 , (a) 10°disintegration/Sec
£ 10° fagus /%o (b) 10" disintegration/Sec
g 10" fagre /o ©) 3.7X10" disintegration/Sec
T 37x10" fawws /%o (d) 3700 disintegration/Sec
o} 3700 fa@vest /o
SECTIONC
ST A 25. If A | tric matrix and B is a sk
. is symmetric matrix an is a skew
25. afg A s ey ® ofR B S %9 3T 1B y 2, B2
symmetric matrix of same order then A*+B
AT #fgay & o A+B*Td B | _
is a
2 REIEG MY a. Symmetric matrix
S b Sk i tri
. t
- § 4 ew symmetric matrix
o T 9§ BIg T c. Unit matrix
d. None of these
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22.

23.

® 1 m/s?

g 10 m/s®>

T 100 m/s*

q 1000 m/s’
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25. afc A wafiT aneg ® ok B S HH &1 UH

AT dfga & Y A+B* U B

@ A 3y

g AT 37Ty

T 3PS S

o T Q BIY T8

wofe grT fasfa oie @ 87
G 21 W
9 42 W
T 150 W
q 250 W

100 kg @I 9% TR 100 N T gcl ST Y
N, SHH T @R S BRI

21.

22.

23.

A machine does 2500 J of work in 1 min.
What is the power developed by the
machine?

a. 21w
b. 42 W
C. 150 W
d. 250 W

A force of 100 N is acting on an object of
mass 100 kg. What is the acceleration
produced in it?

a. 1 m/s?

b. 10 m/s’

c. 100 m/s’
d 1000 m/s’

Nuclei gc**and go'*are pair of

(a) Isotopes Nuclei
(b) Isobar Nuclei
(c) Mirror Nuclei
(d) Isotones Nuclei

24. The value of one Curie is

25.

(a) 10°disintegration/Sec

(b) 10" disintegration/Sec

(c) 3.7X10" disintegration/Sec

(d) 3700 disintegration/Sec
SECTION C

If A is symmetric matrix and B is a skew

symmetric matrix of same order then A*+B?

is a

a. Symmetric matrix

b. Skew symmetric matrix
C. Unit matrix

d. None of these



26. 'LEADING' T/ & et 3 forae 3 — 26. In how many different ways can the letters of

AT TP | e P Sl THd & B R the word 'LEADING' be arranged in such a way
) that the vowels always come together?

9T TH 1T I |
a. 120
G 120 b. 360
“ 360 c. 720
i 720 d 2160
§3) 2160 )
d = d
27. 4 (secx) = 27. % (secx) =
a. secx+C
Gl
= secx+C .. b. tanx + C
tanx + C . Xt
T secxtanx ) secxtanx
9 cosecxtanx d. cosec x tan x
dx
28. Jmzez = e
28. x242x+2
5 xtant(x+D+C a. xtanl(x+1+C
g tanl(x+1)+C b, tant(x+1)+C
(x+Dtan"1x+C
T c. (x+Dtanlx+C
g tanlx+C

d. tanlx+C

29.WM$WW$WW

¥ s Rexie @ G 9 UPR 4 29. The number of arbitrary constants in the
particular solution of a differential equation of
third order are:

2 3
E’ 2 a. 3
T 1 b. 2
Rl 0 C. 1
30, 27 TTEl FY TH AT GEeH W, b UH W AH d. 0

H

30. The probability of obtaining an even prime

D 0 number on a die, when a pair of dice is rolled is
g 1/3 a. 0
ki 1/12 b "3
2 1/36 )
C. 112
d. 1/36



31, [xPe* ds =

32. oM A 3R B BT T §ER B GobH Bl

33.

34.

35.

T

q

afe

oq 4 ¢ 4

qd @ B & ae ga $ asbe aRddT

1 X
—-e +C
3

1 2
Ee" +c

AB =BA
AB=BA=0
AB=0,BA=|
AB=BA=|

TWratr=6¢cm W 8

o 4 4 4§

:/Zlog(

o g 9

AP If3h adhal TATDRI

xyp + xtyq = x*y* 2|
Eg e

S| FFRIP

T PRSP

° T | P T

4+3sin x
——)dx
443 cos x

107
12w
8m

117

31.fx2e"3ds =

32.

33.

34.

35.

1,3
a. ~e* +¢
3

1 42
b. -e* +c
3
1 3
C. ~e* +c
2
d. lex +c

2

Matrices A and B will be inverse of each other
only if :

a. AB = BA

b. AB=BA=0
C. AB=0,BA=1I
d. AB=BA=1|

The rate of change of area of a circle with
respect to its radiusratr=6 cmis

a. 10w
b. 12w
C. 8n

d. 11

/2 4+3sin x _
Iy tog (Fizes) 4 =

a. 2
b. 3/4
c. 0
d. -2.

The first order partial differential equation

xyp + x%yq = x*y*z%is
a. Linear

b. Semi-linear
C. Quasi-linear

d. None of these



: 36. I3H 3rahar FHHROT 36. The partial differential equation

Aty + Buy, + Cuyy + D = 0 SifoRaaRIs 8 af Ay +Buy, +Cuy, +D=0  is hyperbolic if
%6. & B2 —4AC =0
B?—4AC >0
9 2
B?2—4AC <0 a. B*—-44C =0
T
. . 2 _
T W J aﬁg T b. B —4AC>0
c. B? —4AC <0
3]'-1‘31‘[1[ o d. None of these
Section D
; 37. NH,OH &R HCI # Sarirfigef surm g | 37. Heat of neutralization of NH,OH and HCI is:
® 57.3kJ/mole a. 57.3kJ/mole
g <57.3kJ/mole b. <57.3kJ/mole
T >57.3kJ/mole C. >57.3kJ/mole
3] Zero d. Zero
38. TP HAM 919 7 B BT TR = _ 38. The work of expansion at constant
@ PAV pressure is given by:
g P+av a. PAV
T P-AV b P+AV
o} P/AV c. P-AV
d P/AV
39. ST BT FHeRT = o
i 39. Bragg's equation is
Eg A=2dsin6
. a. A=2dsind
9 NA=dsin6
b. nA=dsin6
T nA=2dsin® _
T A=dsing C. NA=2dsin0
d. A=dsin6
40. 37X AgNO, & &l &1 KI, & BT & ererT
SiTaT 2, dF fhg Agl I ot fosfor gxar @ 40. If AgNO,solution is added to an aqueous
& AglAg’ solution of Kl, the Agl sol so formed is:
T Ag”- a. AgIAg'
T Agli b. Agll
T Agl C. Agll*
d. Agl

10



41. |7 91 & w9 dIfAfed @1 K,Cr,0,/H,S0, @

ey e S @
P BIEfACET ]
G| IEEIR]
T CRSIIEEIE]
q i
42. @IS IR AT ¥ ve & ifas Brfen
3R T & A g ? AfeT 9 C, &R
OH wig & ifeme™ & &R i &
eI % @1 P &7
b TR
g TAMR .
T AR
o} 31g Wt T8

43. BT IRHIYST B HHOT DY A F @S §Y,
adr AR 6 B 9 ey fre A e &

7]

q 4 g

CH,-CH=CH-CH,
CH,-C=C-CH,
CH,=CH-CH,-C=CH
CH,-CH,-CH,-CH,

44. TITRIR ¥ U Adhd B dear @ ger (N)
A N1 & Wl 7 (3afe (n) g e @

e ®) |
b

q 4 g

N=n+1
N=n+2
N=n+3

None

45. THAIY B =Y FHoll ®WR W Feaa qol w1

B B

oq 49 ¢ 9

16
32

11

41.

42.

44,

45.

Aniline when treated with K.Cr,0,/H,SO,
form;

a. Nitrobenzene
b. Phenol

c. Benzoquinone
d. All

Glucose and galactose have same
molecular formula and same functional
group but they differ due to the
configuration of OH group at C,. Hence

they are known as:

a. Epimer
b. Anomer
C. Mesomer
d. None

. Considerin_g the state of hybridization of

carbon atoms, find out which molecule is

linear among the following:

a. CH,-CH=CH-CH,

b CH,-C=C-CH,

c. CH,=CH-CH,-C=CH
d CH,;-CH,-CH,-CH,

The number of splitting of a signal(N) in
NMR is given by the formula (if n is

number of neighboring proton):

a. N=n+1
b. N=n+2
C. N=n+3
d. None

The total number of atomic orbitals in 4"

energy level of an atom is:

a. 8
b 16
C. 32
d 4



46. According to Bohr Theory ,which of the

following transition in the hydrogen atom

will give rise to least energetic photon :

n=5 to n=3

GO a. n=5 to n=3
kel n=6 to n=1 b. n=6 to n=1
T n=6 to n=5 c. n=6 to n=5
o n=5 to n=4 d. n=5 to n=4
47. Most electron affinity element in the
f 47. 3mad AROT H f6E I B golds g periodic table is;
S & | a. Ci |
g Cl . b. E #
“ F c. Br
Bl O 48. Beside CO,, other greenhouse gas is :
48. 1 9 9 CO, @ 3=y BN sy i 2| a. o,
® 0, b. N,
LG N2 C. Ar
CH
T Ar 4
Section E
g CH,
49. In which of the following fruits the aril is
the edible part?
AJHIT s Aol
o a. e
49. fr=faReT wall # 9 5 &1 fiorae w@rE PP
7T 7 b. Litchi
® 99 C. Orange
EC) il d. Pomegranate
T HICRT
Y IR

50. What type of placentation is seen in sweet

) pea?
50. WeX 3 ¥ UPR &1 QRITIF g7 1T 27
- S a. Basal
- & b. Axil
T Eo1e: 1 s C. Marginal
q ﬁfﬁﬁ ey d. Free central

12



51. AGHT & TP gaT qe A Bl g oI o T 51. Long filamentous threads protruding at the

B & ? end of a young cob of maize are :
P Siferat a. Stylés
g IS b. Ovaries
T YHTHIYT c. Anthers
q BIS TE d. None
52. A @ TR e 3 OIS oY &7 52 Bowman's glands are found in :
- SR Sao e a. External auditory canal
& AARP #IOT TER b. Internal auditory canal
- N— C. Olfactory epithelium
- e - d. Cortical nephron
. . 53 Which of the following is a pair of viral
53. ST W P RN ST A A g S B giear
diseases:
% uferer, e wat
_ a. Dysentry, common cold
<] IS DIT, T
b. Ring worm, AIDS
T TGS, e
C. Typhoid, Tuberculosis
9 S A, T d. Common cold, AIDS

54 There is no DNA in:
54 1 § 9 59 # @I Seae 78f 27

a. Mature RBCs
L RICCCICINEIR) b. Mature spermatozoa
Kl gRuTE EHTIoT . Hair root
T CICECARS d. All
2] a4y
55 Which one of the following plants is
55. fAefafaa & | o9 A fgferf 87 monoecious?
B AEHd a. Cycas
g are b. Pinus
T qiar c. Papaya
q qreRRAT d. Marchantia

13




56. BIE- b UHR B AT BT IAERT § 56 Elbow joint is an example of;

P TerTgteT iRy a. Gliding joint
T fige afa b. Pivot joint
T gt 3R wfcier |f C. Ball and socket joint
q I | d. Hinge joint
57. U BIEeE BRaey fea § wmfd € 57 Single cell eukaryotes are included in:
G2 hdd a. Fungi
q wifewr b. Protista
T HAERT c. Monera
q anfar & d. Archaea

58. fopg & fRreel 9y 3R Q,Fiqﬁaa aid 27 58 Membrane bounded organelles are absent

& TSI in:

] IR LE] a Chlamydomonas

- RIS b. Plasmodium

- . C. Saccharomyces
d. Streptococcus

50. WG ¥ Y X9 /g UgUN § fRerar § A
SHGBT U TUch Bl &

59 One of the constituents of the pancreatic

e juice while poured into the duodenum in
" gt humans is :
il fiefe a. Trypsinogen
A FEHI b. Enterokinase
c. Trypsin
60. T Fg A1RYS o T § LH &1 @Rd d. Chymotrypsin
|1g BT B 60 In normal human menstrual cycle rapid ,
D 5d e secretion of LH normally occurs:
L& 11 4 fa9 a. 5th day
T 14 § &9 b. 11th day
ol 20 § & C. 14th day

d. 20th day

14




